TPIANTA®YAAIAOY
NMANATIQTA

Mivakag ZuvTeTaypEVWwY TwV Kopuewy Tou 1,2,3...............
EpBadov tepayiou = 2000.00 1.4. - MepipeTpog = 197.18 .

a/a X Y ATtToaTdoEIg
1 319766.20| 4466995.84 -
2 319735.59| 4466943.46 1-2:60.67
3 31971041 4466949.21 2-3:25.82
4 31971544 | 4466953.42 3-4:6.56
5 319707.42| 4466957.12 4-5:8.83
6 319740.67| 4467012.65 5-6:64.73
1 319766.20| 4466995.84 6-1:30.57

Mivakag ZUVTETaYUEVWVY TwV KOpUQwv Tou 7,8,9...............
EpBadov tepayiou = 2100.00 1.. - MNepiperpog = 199.31 p.

a/a X Y ATTO0TAOEIG
7 319826.68| 4466943.31 -
8 319811.27| 4466918.08 7 -8:29.57
9 319754.93| 4466950.82 8-9:65.17
10 319765.28| 4466981.42 9-10: 32.31
7 319826.68| 4466943.31 10-7:72.27




